N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

2] F 1%} [%] F (%]
x o N x o X - X
8 o5l : 8 1ol g 8
s 10°F = E 104k =
g o 10F o
F ] s F 8
10°F i g
i Lo i W0 3
10°F e 10°F E
i N i 10%f-
10%F i 10%F 3
i . b 10k~
10 E_ . 10 E_ E
AT +*||| E .
o s BOM_Griginal L0006Vt
3 DQM_fitted4_T000evt
o O O O [24 [24 [24
£ R T R I
085 -i5-10 5 0 5 10 15 20 0¥5 1510 5 0 5 10 15 20 086 -i5-10 5 0 5 10 15 20 =20 -15 -10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 1%} 1%} C (%]
X X X r X
[=] L [=} [} Q
S s 8. 5 g g
10°F s 10°F 10k s
i = f L S
10* 3 10* 3 [ g
E F 10°F
LT e A RRREEE R R R 10°F [
. . 10°F
10°F 10°F F
10 10 10
9 L.V - 9 J..U:I- Q L.V F N 9
5 : s IS : 3
o . o o . o
| SERCEREE : : i R ARE £ 1| il 1|71 ARRREE NN cRREERDRE 1+ (& 111( a1 €| AR
0¥ =20 -0 0 10 20 30 0¥35 20 -10 0 10 20 30 093520 -10 10 20 30 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


